
Part - III 

�!!516lSlUJ6\) / SCIENCE

( �uS)W LO!I)IDJLD �ffi1$)ru Q.lw) / Tamil & English Versions) 
GJ]IJ"LO : 2½ LO� ] [ G1LOIT�� LO�uQu6ffla;GIT : 75[Maximum Marks : 75Time Allowed: 21/2 Hours] 
c:�HDl 61.j 6m IJ : (1) � � 6m �� @51 � IT eta;� 1.0 a:rfl lLl IT a; � 8=$ u u � @.Hf cf;) 2-GITGTT � IT GT QITU � a, 6ma:rflulTrr��a; G)a;ITGITGTTGl..JLO. �8=8TUU�6£JGD @56[)!!)u51@Ut.S1QIT �6[)!!)85a; 6lffif a; IT� LJ LJ ITGTTITI LLD 2-L6ITTLq-lU IT a; Q � rfl @Sl $$@..j LO .

(2) �roLO �GDro� 8i@ULJ. 6o}tnu51a,6ITT LOL(b\Gw 6f(!:Q�6ll�!!)@5LJ UllJQITU@��
Gru 00(1) LD. u LffiJ c!EGTI" G)_J 6oJfJQJ � !D ® Q u Q5T c!f1 Q) u l1.J QITU(b) ��Gl.f LO.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of 

Note: 

fairness, inform the Hall Supervisor immediately. 
(2) Use Black or Blue ink to write and pencil to draw diagrams.

This question paper contains three sections. 
tSlrfl�- I / SEC.GJON- I 

(LO�uQuooa;w: 15) / (Marks: 15) 
®uSlLH.1 : (i) 

(ii) 
@ut.S1rflGR6D 2-GITGTT 15- @516MITM'(§8'@5LO (oWG[)LllJGl17$8;.�LO. lSx1�15, 
��LU qct @5n51 u51 @1 ITT Qa; 1T(]-8'$l.J u L(] ffiGTT LO IT�IDJ @516[) Lffiffi1 Q) uSls;QJLO s=rr1UJIT6m' Gl51�LG[)llJ� G�rr�.Gffe5®-�� CorQ:g�:�LD. 

Note: (i) Answer all'the 15· questions.
(ii) Choose the correct answer· from the alternatives given in the brackets.
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1. s; @ @GTTQJ JD IDl <oh- u rn;nb u rfhu � � 60T GoHD Q a; IT oo L� ___

2. 

5. 

( LD V LJ @21 LD IT JD ,(I) L.D Q 8= LLJ UJ LJ LJ L L @51 Ji; � WJ , a; Q) Q) V GD) Q) LD V LJ WJ LD IT ,(I) ,(I) LD
Q5LLJUJLJLJLL �60Tffiffi, G�ITQ) Q5Q)GD)Q) LDVLJ@] LDITJD,(DLD Q5LLJUJLJLJLL�QJ,
UITGDLDlcj-5 Q5Q)GD)Q) LDVLJ@ll LDITJD,(DLD G18=UJUJL.JLJLL�QJ.)

Which of the following is inheritable ?

(an altered gene in sperm, an altered gene in liver cells, an altered gene in skin cells, an
altered gene in udder cells.)

� 60TQJ @QJ 6m'QJ JD IDl ffi LJ IT 8:i �rfl UJ ITQJ ITGD �00-LIT@) L.D G JD ITUJ ---­

( (Y) � GIT 8:i a; ITUJ 556D, Q QJ J}51 JD ITLLJ s.;a; Lcj-, @ V 6oor� 6m 6nfl , Q LJ rfl UJ LD � LD . ) 

 is a bacterial disease. 

(Meningitis, Rabies, Tetanus, Small Pox) 

The part of brain which controls emotional reactions in our body is  _ 

(Cerebellum, Cerebrum, Thalamus, Hypothalamus) 

(@51��. a;6nfl, ffi@�OO (eoroo-GLITOOLJITLD), a;6nf]�G�ITQ) (Qurfla;1T1TL.J)) 

Post - fertilization, the ovule changes into a/ an-  _  

(seed, fruit, endosperm, pericarp) 

-

(98.4° - 98.6°F, 96.6° - 96.8°F, 94.4° - 98.6°F, 98.4° 99.6°F) 
' ' ..,.  -, . 

Normal body tempernture of man is _____  

(98.4° - 98.6°F, 96.6° - 96.8°F, 94.4° - 98.t;,?F, 98.4° - 99.6°F) 

) .. 7 \ 7 

'! . I ; ., t I - I 
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6. U8rJB�rf(@_J�r5.J8;ffi)Q) $rf6mLJU(]LD GTJB�8= Ga:6D !g]OOg@}JIDJLl�U �Gm� �wu��
Q�rrw)d)a=rr�Q)8Jffi GT6ITT ��wffi8JQ)rfl.D ?

( �LOLGLrr8Jrroot.q..rf1 wrr, U8rr5.J8J6o0f18JLD, GTOOGLrrLS1mrra=ru�Q), �L$@,)
__ _ of green plants are called factories of food production.

(Mitochondria, Chloroplasts, Endoplasmic-reticulum, Nucleus)

7. GL08Jr5.J$�GIT� �oot.q..s: Ga=wd)�8JWrf$ LO�w Quli.Jw ���l.D GGlJ�!uGurr@ffi.

(GurrLLrr51LLJLD �Gwrr�L(], 8JrrGU51LLJLD c9;rrfruGooL, c9;JjJ�c9; �L �ct�a=(],
�LDGLOrr�LLILD urrooGuL.)

 is used in seeding clouds.

(Potassium iodide, Calcium carbonate, Sulphur dioxide, Ammonium phosphate)

8. @ww�$ Q.Jrfll.j6i516U $fTGmLIU(]LD QP�6ITT�LOLLJrf6ITT Gurr@@ ---­

( r-r-�G�6br, iB�G�6br, �G�rrL1Gu6br, LS1�LGL6br.)

9. 

 is the chief component of natural gas.

(Ethane, Methane, Propane, Butane)

�® GruLJULD Qc9;rrro��6ITTu516D, QQJLJU��Q)�LLJ 
� :$18; rf1 ffi@) l.D 

( �:$18Jrf1��rr6D / ®�!D��rrGU.) 
In an endothermic process, solubility increases with  in temperature. 

(increase/ decrease) 

10. GGlJ:$1 GTrflLO�Q) GT6ITTU� 

( &i.(]�$ Gi51�oo I 51���IDJ�6D ��6m°; )'
Chemical volcano is an example of  

( combination reaction/ decomposition reaction)

11. GlJ rr c9; oo �� rf1 LI u rr c9; rEJ c9; ro � w rrrf1 a;c9; u u w 6bru (] ru �  

(�ffi8;Q) GTo°o@), �@L.lt51 t.q..ct8Jrr� GT.o0o@), Gruooc9;,�Lb, GL0�6ITTrr�UJLD.) 
 is used in making automobile parts. 

(Nickel steel, Stainless steel, Bronze,· 'Magnalium)' 
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Buckminster fullerene is the allotropic form of   

(Nih·ogen, Carbon, Sulphur) 

The momentum of a massive object at rest is ___ _ 

(very large, very small, zero, infinity) 

��� �uJt�6o)GnTa;G1flGD �--'oTTffi Gurr� ____ u�u� LD!!)!D u�u�a;6o)ffi @S1L 
�:@a; GlG'.JLJLJ�6o)� �La;ruJTc£1!D�-

____ surface absorbs more heat than any other surface under identical conditions. 

(White, Rough, Black, Yellow) 

�® a;wl.Sla=c1T@Gerrrr(b) Q�rrLfrH6o)LUJ /if.ilTJB�uurnuw LDffIDJLD. GurrGl�GDQ)ITLD, 
� cS=clT!!) ,o5l GD L.6l 6m"� UJ a; @5 @Sl 6o),9= �®@._] IT @5 LO �a;� Gt.I 

(L.61851" a;rrJt�� @f6"60TL6D, L.6l6m"GGn11TLLLD �@rulT�6D, L.6l6m"GnT(!:Q�iLD �e5rurr�GD, 
L.6l6m"G6nT1TLLLD LDIT!!)!I)UU{b)�GD.) 

' <, I , I '\., • 

The phenomenon of producing an emf in a circuit whenever the magnetic flux linked 
with a coil changes is _ _ 

(electromagnetic ii11.duction, inducing current,--i�·ducing voltag{�hailge in current)
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i5lrrl6LJ - II / SECTION - II 

(LD�uQu�a;GIT : 40) / (Marks : 40) 

5780 

®u5h.J LI : 6Jcg�@)J LO @®U� @S"1160Trr e;a; �a; @5 @5] 6o) LlLJ GITl e;a; Q .. jl.D, 
Note : Answer any twenty questions. 

20x2=40 

16. u rr�n.ourfl LU LD tFrrrrfr>� 516D ey:>c£$lLLJa= GtFrr!!)@5!]51 u L...Js.iGIT s;GW Ga;rr®e;a;u u L®GITGIT601.
� QJ !D IDJ m �rfl LU 601 QJ !D 6o) !D � cg� rr fr> Q � Cb) �©1 GT 0:9 �a;.
(i) _ a; rrr,r � a;GIT @LU !D t.Sl LU Q) otrrrrfr>� u rrr,r LD u rfhu a; a; rrr,r GoITT1 a;ro qi,@5 LD.
(ii) ---- GT�U� �Gr,r �Gm16m LDIT!DIDJ� ��6o)L0lLJIT@5l.D.
( �Q)Q)Q), LOITIDJUIT®Siro, M0!}5160TLOIT�Q), ��. ,::g)jQ)Q)]GQ)rr LDITITo°oLJSiGIT.)
Here are certain important hereditary jargons. Fill in the blanks by choosing a suitable 
one from the list given. (allele, variation, speciation, gene, allelomorphs) 
(i) _ are the factors which form the physical basis of inheritance.
(ii) _ is the alternate form of the same gene.

17. GQ..IIDJurr®a;m GT�!DrrQ) 6f�60T ? ��� QJ6o)8:i8:iGIT lLJfT6o)Qj ?
What are variations? Mention their types.

18. £we;a;�LQJ!!)ID]GTT �@5J!>� @6o)6oO"f8:i6o)GfTLJ Gurr0.91E�8:i.
( LO® J:t� a; GIT, GT rfl Q u rr ®GIT, IDJ � @I � rfl , QJ GITrr 5) 6o)� LO rr0 !D LD, a; rf1 LO � u516D ffiJ a; ro. )

(i) �®ULJ LO®Jf>� (ii) @lLI!!)6o)8:i QJrflLj
(iii) 51 Lrfle; � u51GDLD (iv) 6o)6U LLu516irr 8:iGIT
Match the following by identifying the pair. 
(medicines, fuel, microbes, metabolism, organic• adds) 
(i) Vaccine (ii) Natural gas
(iii) Citric acid (iv) Vitamins

19. tFrr�rrr,r6oOT tFGITlLLJrrQ) urr�e;a;uuLL J5UrflLLD a;rr�u·u(Bl·LD Gurr�G'lJrrior �u51®!]51a;m
LU rr 6o) QJ ?
(i) (ii)
What are the S)�{l1J��?m�. _of common c?ld?
(i) --- (ii) 

[ �®U LJ8:i / Turn over 
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LSI 6Z)T@J ® @J 6oT Gl.1 ti) IDl GIT �rf1 l1.J � ll.9 ffi.J @5 � 66) LD Gl.j (Y) 66) .[D 

( i) 66J s: cg s.; rr L Lq- 6bT ➔ Q ru u cg L rr L@__ 6ZIT ➔ u rr c9:i $1 L@__ 6ZIT ➔ Lq-u G ITT rr L L@__ 6ZIT ➔

L l1.J 66) Si Q 6oT §1 00

(ii) L l1.J 66J s.; Q 6oT c!f1 Giu ➔ 66) s: G s.; rr L Lq.. 6ZIT ➔ Q ru u cg L rr L@__ 6ZIT ➔ u rr a; $1 L@__ 6ZIT ➔
1.q-u Gm rr L l.@._ 6Zrr.

( iii) Q ru u cg L rr L@__ 6ZIT ➔ 66J s: G s.; rr L lrj-6ZIT ➔ u rr c9:i ffi1 L@__ 6ZIT ➔ tri-u cg ITT rr L L@__ 6ZIT ➔

L llJ 66) Si Q 6oT §100

Pick out the item which has sequential arrangement. 

(i) Zygotene ➔ Leptotene ➔ Pachytene ➔ Diplotene ➔ Diakinesis.

(ii) Diakinesis ➔ Zygotene ➔ Leptotene ➔ Pachytene ➔ Diplotene.
(iii) Leptotene ➔ Zygotene ➔ Pachytene ➔ Diplotene ➔ Diakinesis.

( �) ULLO A, B 66)l1.J �66)LUJffGTTLO $ff660l"Si; 

( qi,) A -u516ZIT GTJ!>�U Uff$1..0 B �s.; LDrrwffi1.co�-

A 

( a) Identify figure A and B.

(b) Which'part of A is modified into B.

I r ' ��L ! 

A 

B 

B 
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u rr�LL9-J.t5l 6bl" @�LU LD �® 66)LOGLU rrG�<oITT18j @�LU LD 
qb@)LD.

a; rr ir 6ITTITLD (R) u rr � L Lq-83 cl1 Gi) @ � LU � � Lq-u � §1 !D u u rr GITT � 66) 5 s.;
s.;ti) 66)!I)s.;GTTrrQ) s.;L.@uu@��uu@ffil!D�· (Guoo
GLOa;s.;rr.)

( �) (A) LDWIDJLD (R) @i;rbffl@l.D 5rf1; (R) qbGITT� (A) 66)LU Gl51GTT8'@)c5l!I)�. 
( qb) (A) LDWIDJLD (R) WIJ"bffl@LD 5rf1; qbGITTrrQ) (R) qbGITT� (A) 66)LU @SIGTTa;s.;@S)Q)66)6l). 

(@) (A) LDL@GLO 5rf1; qbGITTrrQ) (R) �6LlIDJ 
(r-r-) (A) �6LlIDJ; qb6orrrQ) (R) <frf1. 

Mammalian heart is called myogenic heart. Assertion (A) 

Reason (R) : Heart-beat is regulated by a specialized muscle bundle (pacemaker) 
in mammals. 

(a) Both (A) and (R) are true and (R) explains (A).

(b) Both (A) and (R) are true but (R) doesn't explain (A).

(c) (A) is true but (R) is false.
( d) (A) is false but (R) is true.

23. @i;r����6bl" t.S1GTTrr<oruLDrr U@5�u5)Gi) s.;rr6m"uu@LD t.S1GTTrr<oruLDrr �Gi;rrrL�6b183GTT
e_y) 6bT w) 66) 6or a; t%l.IDJ s.;. � 6Ll ti) p5i 6bl" U � 83 66) GIT lLj LD @5 p5i U t.S) (8 83.

Name the three important blood proteins seen in Plasma. Add a note on their functions.

24. � LG61 ar " LO rr <oru L rr Gs.; uS1 <oru L' ' <oi-6b1 IDJ §1 IDJ i i;r 83 l.D � 66) W $ s.; u u (8 ffil !D � s.; rr i;r 6m" LD
ffi�Lw)�� Gi-@�83.
( �) �LG61Q) GU!I)UU@LD �66)6of�� Gru�u Gurr(!!)GTT83(§LD §1wii;rs.;��Q)

G u !D u u 0 ffil ar !D ar.
( qb) Mwii;rs.;LD, @i;r����6bl" Gru�u.Si66)LUY .8'.� J£166)6l)66)LULJ Guwi$l!D�·
(@) §1wii;rs.;LD, �LG61Q) GUIDJLD �66)6of�� Gru�u Gurr(!!)GTT8366)Gffll.jl.D

GruooGLUti)IDJffil!I)�. 
( r-r-) §1wii;rs.;LD, �LG61ar �66)6of�� G(@J�LJ Gurr(!!)GTT8366)Gffll.jl.D G5u51�� 66)(@J��a; 

G s.; rr GIT ffil !D � 
The master chemists of our body are the kidneys. Justify. 

(a) Kidneys filter all chemicals in the body.

(b) Kidneys maintain the chemical composition of blood.

(c) Kidneys eliminate all chemicals absorbed by the body.

(d) Kidneys store the chemicals accumulated in the body.

[ �®u�s.; / Turn over
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25 . � G kQ Q s; rr(B $8:i u u L(bl ffi ITT �LL (Y)�!D s; GITT rr(B , � (@J !D ,a51 � 51 W u � �w u qs; Go)ITT 
�c9,s; �®��8'8JrrL(BL� Gurre5��s.;. 

I
I 
�0a=rrrr� �L� QP�!D �LD�Gs;rr�r,rs=rr G(@JIT$GTT 8.>Gll\� LL rr 

�...- . 

i � L ® �mln,ITT5f1gm  , 
. - . 

. .
LJ56[)5W LO 

.. , .... .  � � �G6ofrr�Gr,rrr�u rr 
L() c9, @5 66lIT Go61i cbffi @ID rroo CL trrfl lu ffiJ cb ffi 

r ,  
. 6ln � L5k,10 � oo

�atch the methods of nutrition of special drgans with suitable examples i 

I

I . 

IA utotrophs Mycorrhiza Cuscutta 
I 

I Parasites Chlorophyll Monotropa 
I 

I Saprophytes Haustoria Hibiscus 
.. ·

I 

26. (b)s;rr(Bc9,5.;uuLt.q..(58'@5LD LJL���a; 8J(@J�s;s;.
I  

��) uLLD A, B i@ro 8Jrr�uu(BLD @w8'8.>ffi.J$�ITTa; ®n51ul51(1)8J.
I 

� �) � ru (@J rr ID! @ ru @Sl UJ 5) 8j r5J 8j GiT Q � rr c_ L rr Q) 51 @I r&J $l @ � 6D 8j ml 6m
1. @W$$r6J$ml66l@Jh� G(@Jg)JLJ(b)$]6ITT.(D6m" ?
I

I (j)bserve the diagram : 
(a) Mention the type of movements shown in figure A and B.
(p) How does this movement differ from the movement of mimosa ?

J 1 ,   1 ;"  

' ;·, .. :' \ ,, ' ' .  ,, 
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27. arrurr51��rciD GT6nT!] h"615 (ofGmGITT? s;rr.[bwimm arrurrc!¥l��@i.l8;s;rr6nT Gru�a= a=LD6ITTUrrLt.q-66)60T
GT@�$.
What is respiration ? Give a balanced equation for aerobic respii·ation.

28. t.9160lru @ru 60TfuJ 6) 66) !Du u lLi �u ® �� ��� t9= a=IBJ $16151.66) UJ �®ru rr 8'@5d;.

(urrLOL.j, L:j�. B;Qg(§, �ffi.J�GTT, GruL(b)m$16ffl.)

bepict a food chain by placing the following organisms irt the correct trophic levels.
(snake, grass, eagle, frog, grasshopper)

29. Qurr@��rr�66)� �83@)s;.

( �) �u51rf1 -=�ii0s;�rrGD, uiJ:�a= �a=GD, �u51rf1-r-r-�rr, GuLGIJ"rr615lwLO.

(�) 8)rf6\)IJ"ff, 6o)Lo°ourrw®, Qa=rrn5l �IJ"ffi.J@), 5�Gu�.

Find the odd one out:
(a) bio-alcohol, green diesel, bio-ethers, petroleum.

(b) cholera, typhoid, scabies,, dysentry.

3 o. � p51 w � 6ffl ® LO 6151 m 8'@5 85 66) m ( CFL} Q @J LI u ��it 6b � GJfl ® LD 6'51 m Bi@) s; (§ a; @5 u
u�GDrra; uUJGirrLJ(B��ru�rrGD ��@8;@5 6,000 GLDs;rrGLlrTL u5160160TIT!I)!l)Q)
Ga= uS1 a; a; 6\) rr t.b .

(�) _ ? (�) _  ? 

Substituting energy efficient Compact Fluorescent Light bulbs (CFL) for standard 
incandescent bulbs will save on an average upto 6,000 megawatts of electricity each 
year. 

Raise questions 

(a) ---- (b) ?
-�--

31. G u rr a; @5 ru IJ" � �r 6tl rr a; 6mffiJ $ 6TTl GD u w Gm u ® � � LO � rr 601@5 � uj) rf1 -Gf rf1 Q u rr ® Ls; GiT
UJ rf6o)@J ?

Write any four liquid bio ... fuels for transportation.

5780 
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32. � @)Col I I rrurrioOTffiJ85�11 lloU 8,Go)IJ 8585UU �I LD QJ rr� (o"f � ?

( qb ) � ru QJ rr� @SI 661 a; Go) 1J � !D Go) ioOT ��a; rf1 c3; a; � rfiJ 85ITT (o"f 661 ioOT Q a: w @S' rr a; ITT ?

(a) Which gas is dissolved in soft drinks?

(b) What will you do to increase the solubility of this gas?

3 3. Lq-6b1Lrr ro @SI Go) GTTGl.J <or 6b"T!D rr ro <or 6bT ioOT ? 

What is Tyndall Effect ? 

3 4. 11 ct1 CO
2 

-@S1 ro �ITT m e_y:> <oU c3; roIDJ a; ml 6ITT <or Go1IT 6oOf1 ffi Go) a; Go) LU ffi a; 6ITTIT ffi ct1 ® a; . 

Calculate the number of molecules in 11 g of CO
2

.

35 �QJ!DrrioOT ro!I)Go)!DS: 5rf) Gs:wa;. 

(�) G5rrt_q-LU LD Qu6ITTG5rrGLUL �6ITTITG1.JU Qurr@L85Go)GTTLJ u�uu(bl��u
U LU6ITTU (blct)!D�. 

( qb) @S)QJ5rrLU��Q) Go)�Lrf1ffi � L.61<oUL.D �IJLDrr85LJ U LU6ITTU@ct1!D�. 

(@) 85JB�85 �L.61<oULD GQJ�LJ Qurr@ITT85ml6ITT �IJS:6b"T <orioOT �Go)�c3;a;uu@ffi1!D@-

( r-r-) �L.61<oU��QIT pH LD�LJ� 7 � @SIL ��85LDrr85 @@ffi@)I..D. 

Identify the wrong statements and correct them. 
(a) Sodium benzoate is used in food preservative.
(b) Nitric acid is not used as fertilizer in agi-iculture.
(c) Sulphuric acid is called the king of chemicals.
( d) The pH of acid is greater than 7.

� ® 85 Go) lJ 5615l 61TT Go)� L IJ� 61TT � LU 6oT1 uS1 61TT Q 5 p51 Gl.j O. 001 M (o"f 6oT1 ro, � ffi 85 Go) lJ a: 6Ul 61TT 
pH LD� LJ Go) u 85 Go1IT(bi 1.5hq .. 8;85 Gl.j LO. 

The hydrogen ion concentration of a solution is 0.001 M. What is ·the pH of the 
solution? 

�QJ!DrrioOT Q.Jrr8'c£1LU�Go)� �®�� <orQg@85. 

"�® Q�rrLrf1ro �6oT1LDITiJ85ml6ITT �G<oUrr85��QITGo)LD ��85rf1�@1..D �G<oUrr85� �6ITT"Go)LD 
@5 Go) !D JB@ LD a; rr 6ITTIT u u ® c£1 !D@ . " 

Correct the mistakes, if any in the following statement. 
In a period, the metallic character of the element increases -while- .th�ir non metallic 
character decreases. 
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3 8. 8in.!I) n510 a; rr GOT a;� U" 6oof � 66) � �w �ll.J u (5) ��a;. 
am.ti}IDJ (A): u51�esorurrLO !Jffi�Q) (of�LJ� �Grurr8:irEJ8:i66)GTT �rflLDrrGOT��GD1®J.5� 

u rr�a;rruu� LDL(b) LDQ)foDrfLDQ), UGTTLJGTTLJ66)LJ lLj LO �ml$$lw�.
ffiITrJE>mLD (R) : �IT �Grurrs.;�66)� LDdJGwrrlT �Grurra;��� LO� u51�8=rf0"��� CJ)foDLO 

!JBrGl.J � 0@5 u51 � (SP ru rrLO !JBr� !oD (of@TID] Q u UJ IT. 
( �) (A) 8=rfl, (R) �Gl.JID]. 
( �) (A) 8=rfl, (R) Qurr@J.5�6151GD66)Q)_ 
(@) (A) 5rfl, (R) Qurr@J.5�ffi1W�-
Assertion (A) Electroplating method not only protects but also enhances the 

metallic appearance. 
Reason (R) Electroplating is a method of coating one metal with another by 

passing electric current. 
(a) (A) is right, (R) is wrong.
(b) (A) is right, (R) is not relevant.
(c) (A) is right, (R) is relevant.

3 9. 66) GlJ U" LO a; rf ITU ®J 66) LUJ � w G 6lJ 0 IDJ 66) LD GlJ l.q-Gl.J rEiJ a; I_§ GIT � 6bTw rf@) LO. � � � a; Lq-GOT � 
� � 66) LD8:i8:i rr GOT a, rru-6oof � 66)�8:i ooWJ a,. 

40. 

Diamond is the hardest allotrope of carbon. Give reason for its hardness. 

8'rf0"6oof�66)� �w�uu(5)��$. 
am.ti}IDJ (A): Gu@ JB8'U-rE.Ja;mlGD, �@Slu51� �t.q..u51GD 

GlJ L rEiJ a, <oTtl GD � v GlJ LD rr s.; a, u u L L 
Q�mls.;a,u u (5)cEl�wGOT. 

e; ITrJE>mLD (R) : � v GlJ LD rr s.; a; u u L L @5 ml rfl GlJ rr LLJ s.; a, GIT 
� (5) s.;$) �W GOT. 

( <:::91) (A) �Gl.JWrrGOT�, (R) 8=rflUJrrGOT�. 
(q1;,) (A) 8=rflLLirrGOT�, (R) �Gl.JWrrGOT�. 
(@) (A), (R) WU-6ITTlT(b)LO �Gl.JWrfGOT�. 
(r-r) (A) 8=rflUJrrGOT�, (R), (A) -ffi Gl.JGD1LLjIDJ��cE]W�-

�66)LD8:i$l.JULL $LO� 
@5 ml rfl GlJ rr LLJ s.; a, GIT 

5780 

Assertion (A) Liquefied cryogenic gases are sprayed on undergtound electric·· 
. cables in big cities. 

Reason (R) Liquefied cryogenic gases prevent wastc;ge of. power. 
(a) (A) is incorrect and (R) is correct.
(b) (A) is correct and (R) is incorrect.
'( c) Both (A)-and 1 (R) are incorrect.  1 1 

( d) (A) is correct and (R) supports (A).

[ �®u�a; / Turn over 
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41. �L(§ffiw)� �@l.J�� �rI)6o)Gof  @)!]5)u51wL.D, @J6D(_§ffik91� �@LJ�� �rI)6o)Gof
I 

43. 

44. 

45. 

46. 

1 ®o51u51wLD ®o51ul.j)®@J@ LD0-�-
As a matter of convention., an anticlockwise moment is taken as _  and a 
tlockwise moment is taken as 

I 
----

I 

(1) u516irrm @�� Gai IDl u rr(B (�) 8in.WLD

(2) u516irrGGorrrLLLO (�) G@.JrrGDL 

(3) u516irr®Jf LL LO (@) �LO

(4) LJ516irr � 6o) L LU rr s.;$) ( r-r-) J51�LL61TT 

( 2-) �wL51wfr 

+v!atch the following 
I 

I (1) Potential difference (a) Coulomb 

I 
(2) Current (b) Volt 

(3) Electric Charge (c) Ohm 

(4) Resistor (d) Newton 

(e) Ampere 

�ffiITt.q..LL @ Lrfl.J ffi6l5)6TT @IJLI Lj 8:,. 

I 

u5ltoirr IL@@i .@615l!JJ - 2-GGDrrffis.; 8,Q)6o)Gi.]LLJrfQ) �6ITT 19,L.DL.j) �@)LD. �)o°o@ 
� � 8; u51 � � 6o) L6o) UJ lLj LD 2-(0@) J516o) Q)6o) LU lLj LD Q 8; rf 6mll"L@. 

I • 

Fuse wire is made up of an alloy of which has high resistance and ' melting point. 

I 

pffirr@s.;19,uu L(E)roro �0WGD �GDffiJ�GmQ,)· Qu rr@JB�rf � �61TT6o)rI) ffi�@t91 lij--8.iffi. 

( ® rfhu �0 W 6D, � fru51 Gm �0 W GD, � GorGD u516ITT �0 rD GD, g?_u51 rf1 �� W 6b:) 
i 

• 

fn the list of sources of energy given below., find out the odd one. 
(Solar energy., Thermal energy., Hydropower., Bi�mass)

I 
.  . - -  . . "·_ 

�® ®w)Gl6'uGm<onSl� ®@SlLLJ��ifLD 2. 1K GT66fl6D, GlGDGOT<om1Gm �rI)GITT �rr��-
The focal length of a concave lens is 2 m. Calcula_te the power of the lens. 

i 

' I 
, 

I 
' -

I 
I 

, I � .J. ( ( I ' ., I .,_ j 4 -

j°o t5l GITu5J ffiJ /tl toirr .@L.$ 615l Iii @Sl � 615) llJ .$ lfu.ll)J Iii . . . , _ . 
pefine Fleming-' s left hand Rule. 

I 1 I -, 
\ I I 1-- l I 
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47. u L�6o)� �ct:>IDJG.[5rrffi£l, 83k9ffi8'00LQJ 6:>6o)JD ffe �u LJ8'.
(ai) - ®6o)JDUfT(5'1ITTffi 8'00.

( �) _ _ GlGD6irroo uw6irru(Bl��QJ�Gm (SPGDLD @JI>� @)6o)JD6o)WB= a=rf1
Q a=ti.J w GD rrLO.

Observe the diagram and fill up the following:
(a) ____ defect of eye.
(b)  lens is used to correct the defect.

t.5hfl� - III / SECTION - III 
(LD�uQuoo8'GTT: 20) / (Marks : 20)

5780 

®�uy: (i) �@J Q QJ rT® U@)� u5l 6'Sl ® JI>� LO �® @Sl 6ITTfT ��LO !5 IT6nl@) @Slrnrr a;a;e5a;@j

(ii) 

(iii) 
Note: (i) 

(ii) 

(iii) 

@Sl6o)LWGfllffi8'61..jLO. 4x5=20 

�@J Q QJ rr ® 6lSl 6ITTfT6151 ti:>® LO ffi!f>� LD� u Q u oo 8,GTT. 
G�6o)QJWfT6ITT @uEJcJ;Gflllol) ULLO QJ6o)IJ8'. 
Answer any four questions by choosing one question from each part. 
Each question carries five marks. 
Draw diagrams wherever necessary. 

Li@)� - I/ PART - I 

48. 8'GDrr ®WJI>6o)� Gluti:>IDJGTTmrrrr.
( �) �JDJB�, @)k9P56o)�ffi@) (Y)�Q) �ID! , LDfT�ffil8'(§ffi@)GTT 8.1k9ffil8' Gruoot.q-w G.[BfTUJ�

�(b)Uk:J,:5] �.LLQJ6o)6oOT6o)W 6f(!:Q�8'.
( �) @��@Uk:J,518'GTT (SPGDLO <orJI>Gl�J-5� G.[5fTUJ(3;6o)ffi� �®��L @wwLO ?
Kala has delivered a baby.
(a) Suggest the immunization schedule for the baby, in the first six months.
(b) What ai:,e the _diseases that can be c:ured as per .the schedule 7

, ' 
, 

4 9. .[5 IJ LO LJ Q a= Q) �
'-

6irr · · � 6o) i.o u 6o) u �· Q � Gffl (@_] rr 6l)l u L � � L 6irr u rr 8; rE.l 8; 6o) m $ ® n51 � � 
@51 ffi $@)8'.

Describe the structure of a neuron with the h'e1p
. 
of a neat, lab�lled diagr�m. 
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U@)� - II / PART - II

50. ( �) ffi@)�IDJ�rol GITT @S1 �GTT@J rr ffi 2-@)@J ff(@J� ffi61lfl. ffi@)�IDJ�GD �� LG UDJ rrLDGD
�G� ®J LD ffi 61lTl 2-@) @J rr $1 DJ� rr ? 

(a) Fruit is the product of fertilization. Is there any fruit which is formed without the
act of fertilization ?

(b) Represent the classification of fruits in a diagrammatic sketch.

List out the harmful effects of burning coal. 

(a) What are Isotopes ?

U@)� - III/ PART - III

(b) Write any three applications of Avogadro's law?

What are the evil effects of consuming alcohol? 

U@)� - IV/ PART - IV 

Write any five achievements of Chandrayaan - I. 
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( � ) cg LO cg 6D g?__ffiffi u L� 6l5) � LO oo (El LI) QJ 6l5) IJ" cE. 

(�)@uuLLJ) ®p5lul.Sl(EIQJ� __  

(@ ) LJ L�� GD (_y)8'£l LU LO ff 6of LJ rr cE ffiJ co 6l5) GIT a; @) p5l 8'$@..j LI). 

( r-r) @a;cE®@S1 G"f����QJ��6ITT �Lq-1.JLJ6l5)Lu51GD Ga=UJGDLJ(b\£1![)� ? 

(a) Redraw the diagram.

(b) This diagram represents  _

( c) Label the parts of the diagram.

( d) Mention the principle used in the device denoted by this diagram.

-o Oo-

5780 
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